

# Seva Sahayog Foundation

**Reg. No. U85100PN2009NPL168137**

Second Floor, Soman Building, Behind Hotel Classic,  
Old Nagardas Road, Andheri (East), Mumbai 400069.  
[www.sevasahayog.org](http://www.sevasahayog.org) | Mob. No. : 70218 42902 | Email: [mumbai@sevasahayog.com](mailto:mumbai@sevasahayog.com)



## Purchase Order

PUR-ORD-2025-00359

### Workflow State

Approved

### Supplier Name

Stem Learning Pvt. Ltd.

Date

30-05-2025

Reqd By Date

31-03-2026

### Address

1205, Marathon Icon, Marathon NextGen Campus  
Opposite G K Marg, Lower Parel West,  
Mumbai  
, PIN: 400013

India  
Phone: 02224933738

Sr	Item Code	Description	Quantity	Rate	Amount
1	MSC00001	Mini Science Centre consisting of 80 experiments with charts, 37 colour background, Teacher manual, Teacher Training and 1 yr AMC, plus 1 safety placard	Nos 5	₹ 5,39,700.00	₹ 26,98,500.00

### Total Quantity

5 Total

₹ 26,98,500.00

Grand Total

Rounded Total

₹ 26,98,500.00  
₹ 26,98,500.00





## Work Order to STEM for 5 MSC in Tamilnadu/Karnataka supported by Dover India

SR.NO	ITEM	DESCRIPTION	COST	NOS OF SCHOOLS	1st Year
1	MINI SCIENCE CENTRE	80 MODELS + 80 USERS PLACARD+ 37 COLOURFUL BACKGROUNDS + 1 SAFETY PLACARD + 1 TEACHERS MANUAL+ 1 GATE BANNER INCLUDES INSTALLATION & DELIVERY	331949	5	1659745
		TOTAL	331949	5	1659745
2	TRAINING OF TEACHERS (ITTP)	TEACHERS TRAINING PROGRAMME - 2 (FRESHER TEACHERS TRAINING PROGRAMME - FTTP & REFRESHERS TEACHERS TRAINING PROGRAMME - RTTP)	40,678	5	203390
		TOTAL	40,678	5	203390
3	Base Line & End Line Data Collection	2 time visit in each school for conducting Base Line and Endline	42,373	5	211865
		TOTAL	42,373	5	211865
4	ANNUAL MAINTENANCE CONTRACT	CLEANING SERVICING & IF REPLACEMENT (if any) COMPLIMENTARY FOR 1ST YEAR	46,610	5	0
		TOTAL	46,610	5	0
		SET UP OF PLATFORMS & ELECTRIC			



## INFRASTRUCTURE

5

CONNECTIONS &amp; WHITE WASH

42,515

5

211865

711865

TOTAL (1+2+3+5)

GST@18%

TOTAL COST INCLUDING GST

4,57,373

5

2286865

82,327

5

411635

5,39,700

5

2698500

Payment Schedule		2698500
Sr Nos	Particulars	Amount
1	Along with Work Order 50	1349250
2	After the submission of progress report of the installation & Base line data 30%	809550
3	After the submission of M&E + FTRP Report & Maintenance Report 10%	269850
4	After the submission of RTP Report & End Line Data 10%	269850
	<b>Total</b>	<b>2698500</b>





**\*Terms & Conditions:**

The following terms and conditions shall apply to the implementation, monitoring, and reporting of the

Mini Science Centre (MSC) install

1. **School Identification List:** The implementing agency shall provide a list of all identified schools for installation, along with complete contact
2. **Installation Report Submission:** A detailed Installation Report must be submitted within 15 days of each installation. This report should includ
3. **Installation Timeline:** The installation of MSCs must be completed within 30-60 days from the issuance of the Purchase Order (P.O.). Or mutuall
4. **First Teacher Training Program (FTTP) Report:** The FTTP report shall be submitted immediately after the teacher training session and must includ
  - Detailed session report
  - High-definition (HD) photographs
  - Video footage of the training session and demonstration of MSC usage
  - Letter from School authority for completion of teachers training
5. **Refresher Teacher Training Program (RTTP) Report:** The RTTP report must be submitted four months after the FTTP. This report should document the
  - Detailed session report
  - High-definition (HD) photographs
  - Video footage of the training session and demonstration of MSC usage
  - Letter from School authority for completion of teachers training
6. **Maintenance Report:** A Maintenance Report must be shared within six months of the installation date. It should detail the status of the MSC equi
7. **Annual Report:** An Annual Report must be submitted in line with the timeline defined in the signed Memorandum of Understanding (MoU). This repo



Pune Office : Pathik, 18, Vrindavan Society, Near Shree Shree Ravishankar School,  
Mhatre Bridge, Navi Peth, Pune – 411030 . Tel. 020-24537655  
Regd. Address: Plot no. 75, Tulshibagwale Colony, Sahakar Nagar No. 2, Parvati, Pune 411009

---

